EAGRAROBREERT — 2 N— ABISH —F

20215 3A11H (K) 18mAFH4H

mﬂﬁ%— C1mE EEE R
[A&4£) 17 :1,200,000 @ ~ 2 7 :480,000 @ . 33 :300,000 4 3#:180,000 @ ~ 5 7% :120,000 [
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
FMHEFEA 142, —-2-1- . — SR (KFH)
2l T2t 77 =2k o6 TaeIm: 1(4_2)1 2-2-1-1 | 39.3 2 (5+125) it
KB/ >ovTqe BO—LIFT4— =2e]
: 4 6 | mEY 1:42.4 3-3-2-2 [39.4| — 1 489 | 1 EFEE (KFH)
2181/13 YN 2—=J)b 56.0 (11/2) (-3) T EEBH
LTANWNGTTFY— B:Y—I2 TR FREHS
. = 1Ly R :43. —-9-6- . — JeFFRREA (/)\HE)
3156 OAXELXRT 4= feoa 54.0 1?50’)0 965|395 5 :‘; BN .
LTANNTTFHF— B:RbLLTTT EvilLy RTp—L
S — H o4 | BHE 1:43.3 10-10-7-6 | 39.5| — 3 500 | BRA—R (KH#)
415|7 Ny X NyIN 56.0 (11/2) (3) A=
L:bToEr N B:O-YT71F—-L Bl 13
= st 4 | THE 1:43.5 4-6-3-4 | 40.4| — 4 529 | EAAE (K¥H)
58|12 F~AYT 1A 6.0 3/4) © | mmc
R:Z2G1r T A =T7—K=F B:A>T1RAbF7—4 BHRESHH XEXT—-TN
P = o5 | SEHER 1:43.7 6-5-4-3 | 40.6 | — 6 482 | BERIFIAE (KFH)
6 3| T=INTZY 56.0 (1 1/4) (1) | AR
R:/07% B:E2THIVESNR 1- FNETHS
. B FH 5B -44. -12-12- . — SieEE (KH)
. NEPYEI i 6 EEm (11414/20> 12-12-12-10| 39.7 9 <4+938) it
L./ TR BNTEARN=F HET7—L
— RRI&E : -11-11- — AfREFEZ (KH)
8 g|OTVILTF 41— H 6 LI 1(.14/42.)1 1-11-11-11/ 40.1 12 <5+356) LREE
¥ JARZN BiLUyvafyu—+h H—L— - JviX> - T7—LARS
s N .= [EE 9N 144, —1-5- . — BAME (/)
9l7l10 R P 4 4 540 (13414/28) 1-1-5-7 | 41.7 7 (tﬁ?) 5?1535%: )\
LHIRT 4 GTR BNLAV AR JO-Y—T7—L
- i 4t 4 | AHES 1:44.9 7-8-8-8 |41.2| — 13 | 466 | L3hz (K¥#)
Eﬂ 5| NE/TA=2T 54.0 (172) o | @ Kem
gL EALYIL R Biud4XYaY Hstt 42
K i 4 | AN 1:45.4 9-7-10-9 |41.6| — 11 437 | SIEEE (KH)
s 54.0 @ 1/2) Gy | SHET
Lihxexy B rIHINAVE— WA 577
= c—p = > 4 | EEER 1:47.5 13-13-13-13| 40.8 | — 8 540 | ISE=RE (KH)
1200 4| T —ATTM L - 0 (10) (<34) 1A=
x40 B:ag3avile— Bllikae]
s N H 149, —4-9- . — EER (KHF)
132 | F~¥/Yava R 1 (439)1 ez | 04 0 (ﬁg) Tt
R:TJy7—3UT7> B4 ayT7L—F e
® I—F—@EBIERL
13—7F— 10,11,13,12,2,3,5,6,1,7,8,9,4
2ol=5"= 10,11,13,2,3,12,1,5,6,7,8,9,4
3a—+F— 11,13,12,3,10,6,7,5,2,1,8,9,4
43—+ — 11,13,3,12,6,7,10,5,1,9,8,2,4
0@ IR
B 1" 540M 794K 11-13 230 & 7-8 4004 &R 6-11-13 1,160
# B 1 1509 6-11 550 B 7-8 1,070M EE 11-13-6 6,350
13 110 6-13 350M B = 11-13 530
6 210M B H 11-13 1,360

ARICOVWTRDTEEERROODE. TR LI,




